ﬁ STREET SCENE EQUIPMENT,INC. 950-77800 SATIN FINISH
365 McCormick Avenue &
_:_ “:- Costa Mesa, CA. 92626 950-78800 CHROME FINISH
Phone (714) 426-0590 Fax (714) 426-0591 SPEED GRILLE
w 1993 - 1997
INSTALLATION INSTRUCTIONS FORD RANGER
MAIN GRILLE

VERY IMPORTANT ! Read and understand all directions, then check the following parts list before starting
installation.

NOTE: There are two types of grilles made. On type | the upper horizontal molding ( directly under hood ) is
attached to the grille shell and on Type Il the horizontal molding is separate item. The type | has 6
screws secureing it, and the Type Il has 8 screws secureing it. The 950-77800 Speed Grille will work
on both types. This kit includes mounting hardware for both types.

NOTE: Ranger Splash - The 950-77800 Speed Grille can be used on the Splash by purchasing P.N.
F37Z 8419A from your local Ford dealer. Follow instructions of the Type Il grille.

PARTS LIST
1 Speed Grille Insert 1 Instruction Sheet 10 Attaching Clips # 71098
1 Street Scene Emblem 1 Got Street Scene Decal
2 "L" Brackets 2 1/4-20 X 3/4" Bolts 2 # 8 Washer Head Sheet Metal Screws
2 1/4-20 Nuts 4 1/4" Fender Washers 2 #10 Washer Head Sheet Metal Screws
NOTE: Not All Parts Will Be Used, Depending On Application

I TOOL LIST 1
[| Safety Glasses, Phillips Head Screwdriver, 7/16 Wrench, 7/16 Socket, Ratchet, Extension, Hacksaw Blade [

1. Before beginning installation be sure to wear proper eye protection.
2. Open Hood.

3. Remove the phillips head screws secureing the horizontal molding across the top of the grille shell. If you
have the Type | grille remove molding and grille shell as a complete unit. If you have the Type Il grille
remove the horizontal molding first. Then remove the four phillips head screws secureing the top of the
grille shell. NOTE: There are no fasteners secureing the bottom of the grille shell.

INSTALLING THE SPEED GRILLE TYPE |

4. With a hacksaw blade carefully cut the grille shell away from the horizontal molding. ( If you would like you
may purchase part number F37Z8419A from your local Ford dealer, if you do not want to cut your grille
shell. ) Then follow the instructions for the Type Il installation.

5. Remove Speed Grille from it's package. Looking at the opening, you will see a vertical screw hole located
4 inches from the right and left ends. Install the "L" brackets to these locations with the # 6 washer head
screws provided, with the screw side of the bracket facing down. Do not tighten at this time.

6. Set grille into opening. Attach bottom of Speed Grille at the triangular points to girlle opening panel at the
outer square hole where the OEM grille attached, With the 1/4-20 X 3/4" bolts. Install the large washer
under the bolt head and under the 1/4-20 nut. Push bottom of grille inward as far as possible and tighten
make sure Speed Girille is setting on top of "L" brackets.

OPTION: To further enhance the look of the Speed Grille mask one inch back from the front edge of opening
and paint black.

7. Using the # 10 X 3/4" washer head screws provided, secure the Speed Grille to the "L" brackets. Align
"L" brackets and tighten securly.

8. Install the horizontal molding. ( NOTE: Molding will slide over and then down on oblong location bosses.)
Install the 6 screws removed in step 3. The Ford emblem may be installed in Speed Grille prior to
installation. To do this you will need to clip off the center locating pin.

THE SPEED GRILLE™ may be covered by one or more of the following U.S. Patents: D427,119,D0425,834,D421,585,D420,

961,D420,960,D420,959, and D420,958 may be covered by one or more pending U.S. Patent applications.

PAGE 1 | 6/11/01 SSE 950-77800 & 950-78800 |




INSTALLING THE SPEED GRILLE TYPE Il

4. Remove the four phillips head screws secureing the grille shell to the grille opening panel. Lift grille up and
out to remove. Save two of the fasteners.

5. Install the "L" brackets to the right and left outer holes where the OEM grille shell attached with the screw
side of the bracket facing down using the screws removed in step 4. Do not tighten at this time.

6. Set grille into opening. Attach bottom of Speed Grille at the triangular points to girlle opening panel at the
outer square hole where the OEM grille attached, With the 1/4-20 X 3/4" bolts. Install the large washer
under the bolt head and under the 1/4-20 nut. Push bottom of grille inward as far as possible and tighten
make sure Speed Girille is setting on top of "L" brackets.

OPTION: To further enhance the look of the Speed Grille mask one inch back from the front edge of opening
and paint black.

7. Using the # 10 X 3/4" washer head screws provided, secure the Speed Grille to the "L" brackets. Align
"L" brackets and tighten securly.

8. Install the horizontal molding. ( NOTE: Molding will slide over and then down on oblong location bosses.)
Install the 6 screws removed in step 3.

GRILLE SHELL
(TOP)

SPEED GRILL BARBS ON CLIP SHOULD GRAB ONTO LOOP OF SPEED GRILLE

INSERT AND GRAB ONTO GRILLE SHELL ON OPPOSITE SIDE
" S— - PUSH CLIP ON
GRILLE SHELL ~

(BOTTOM) “—

CUT AWAY SIDE VIEW OF TYPICAL CLIP INSTALLATION
(CLIP SIZE MAY VARY BETWEEN APPLICATIONS)

PAGE 2



	Sheet1

